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1609

Four hundred years ago Galileo gave
birth to modern astronomy with the
humblest of instruments, now preserved
at a history of science museum in
Florence, Italy. A one-and-a-half-inch lens
displayed in an omate frame was ground
in 1609. Others followed. Fitted into
simple wooden tubes just a few fest long,
Galileo's lenses magnified the heavens,
bringing Earth's moon, sunspots, and
nearby planets into focus.
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ONEWTON'S FIRST LAW (B EE)

Every body continues in its state of rest or of uniform motion in a straight
line unless it is compelled to change that state by forces impressed upon it.

ONEWTON'S SECOND LAW (TER J1EE)

JIHYEEATr ¢+ 4F1H N = kg m/s?

The net force, 2F, acting on a particle of mass m
produces an acceleration a = 2F/m in the direction of
the net force.

ONEWTON'S THIRD LAW  ({EFIJBRZ (RFE sy (1642-1727)

Fag = - Fga
The force exerted on A by B is equal and opposite to the force exerted on B by A
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Conservation of Energy

E = K+ U = constant
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